

Subject: Mathematics II
 Date: Medicine and Surgery
 1) $y - 3x - 2 = 0$
 $3y + x + 9 = 0$
 Perpendicular line = $m_1 m_2 = -1$
 $y - 3x - 2 = 0$
 $y = 3x + 2$
 $m_1 = 3$
 $3y + x + 9 = 0$
 $3y = -x - 9$
 $y = -\frac{x}{3} - \frac{9}{3}$
 $y = -\frac{x}{3} - 3$
 $m_2 = -\frac{1}{3}$
 $m_1 m_2 = 3 \times -\frac{1}{3}$
 $m_1 m_2 = -1$
 $\therefore y - 3x - 2 = 0$ and $3y + x + 9 = 0$ are Perpendicular.

2) $2y - 4x - 2 = 0$
 $y - 2x - 1 = 0$
 $2y - 2x = 2$ Solution
 $2y - 2x = 2$
 $2y = 1 + 2x$
 $y = \frac{1}{2} + x$
 $y = x + \frac{1}{2}$
 $m_1 = 1$
 $m_2 = \frac{1}{2}$
 $m_1 m_2 = 1 \times \frac{1}{2} = \frac{1}{2}$
 $\therefore y - 2x - 1 = 0$ and $y - 2x - 1 = 0$ are not perpendicular to each other.

3) $x^2 + y^2 + 3xy - 11 = 0$ ($x = 1, y = 2$)
 $m = \frac{dy}{dx}$
 $2x + 2y \frac{dy}{dx} + 3(x \frac{dy}{dx} + y) = 0$
 $2x + 2y \frac{dy}{dx} + 3x \frac{dy}{dx} + 3y = 0$
 $2x + 2y \frac{dy}{dx} + 3x \frac{dy}{dx} + 3y = 0$
 $2x + 3x \frac{dy}{dx} + 2y \frac{dy}{dx} + 3y = 0$
 $\frac{dy}{dx} = \frac{-2x - 3y}{2y + 3x}$
 $m = \frac{dy}{dx} = \frac{-2x - 3y}{2y + 3x}$
 $\therefore m = -\frac{8}{7}$
 Equation of Tangent
 $y - 2 = -\frac{8}{7}(x - 1)$
 $7(y - 2) = -8(x - 1)$

4) $7y - 11 = -8x + 8$
 $7y + 8x - 19 = 0$
 $7y + 8x - 22 = 0$ is the required equation of tangent.
 (B) Equation of normal
 $y - 2 = \frac{7}{8}(x - 1)$
 $8(y - 2) = 7(x - 1)$
 $8y - 16 = 7x - 7$
 $8y - 7x - 9 = 0$ is the required equation of normal.